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o FUI AT F T [ 57 JeT-UF 4 FRa g 24 T F97 38 &)
Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, J9T H B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o G-kl % &= @Il /971 T 88

Don’t leave blank page/pages in your answer-book.
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(2) 1104/(Set : A)
o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o & A T
frd sife dafeys 7o & G T Frdll I @7 9T T G

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U go7 % FUT 37 @ Y4 I€ Ghaa F @ [ 99T-v4 [ 7 @@ & Yher 3 U 59
T § #ig 4 @ w@hHre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A 3
General Instructions :
() 39 g97-99 & 37 38 797 & G5 A @Sl - o § & g o g F G W &
This question paper consists of 38 questions in all which are divided into five
Sections : A, B, C, D and E.
(i) GT-:357 GC 71 720 T 7T 20 J97 &, J9% 597 1 9% &7 &/
Section - A : There are 20 questions from 1 to 20, each of 1 mark.
(i) GT-§:39 8% F21 @25 0% F7T 5 97 &, J9% J97 2 3% & &1
Section - B : There are 5 questions from 21 to 25, each of 2 marks.
(iv) @8- : 37 8 726 @31 0% Z7 6 J97 & 9% J97 3 6% & &I

Section - C : There are 6 questions from 26 to 31, each of 3 marks.

1104/(Set : A)



(3) 1104/(Set : A)
(v) T -T:37 GC 732 G35 T FT 4 J97 8, J9% 7 5 9% F &1

Section — D : There are 4 questions from 32 to 35, each of 5 marks.

(vi) G -F:359 T 736 738 7% FT 3 J97 & T9% 9T 4 9% T &I
Section - E : There are 3 questions from 36 to 38, each of 4 marks.

(vii) T FoT ARET 8 ETE G- F 1 J97 7 @S- % & 57 G, @%-7 & @
g97l 7 S Gve-F % @ g7 H iR% ey (9 7@ 81 37 @ vl G 597 B
g7 &1

All questions are compulsory. However provision of internal choice has
been made in 1 question of Section-B, 2 questions of Section-C, 2 questions

of Section-D and 2 questions of Section-E. You have to choose one question

of them.
grg —
SECTION - A
1. 72 &Y 120 & Ho To o (HCF) ¥ : 1

(A) 12 (B) 24
(C) 36 (D) 72
The HCF of 72 and 120 is :
A) 12 (B) 24
(C) 36 (D) 72

1104/(Set : A) P.T.O.



(4) 1104/(Set :
2. f=fafe & fF-9 oAy e ® ?

(A) 36 B) 25
(C) 63 (D) 5V4
Which of the following is an irrational number ?
(a) 36 B) 25
(C) 6V3 D) 5V4

3. f&ur wgue 2x% - 8x + 6% LIl BN A BN
(a) 4 B) -4

€) 3 (D) 1/3

The sum of zeroes of quadratic polynomial 2x* — 8x + 6 will be :

(A) 4 (B) -4
C) 3 (D) 1/3
4, A.P.3,1,-1,-3 coverren... & G 3fa¥ Fa BT

Find the common difference of the A. P. 3, 1, -1, -3 ............. .

5. ffafed & & faam aier -4 & ?
(A)  (x+1)*=2(x~ 3)
(B) (x—2)(x+1)=(x-1) (x+3)
(C) (x+2)P°=2x(2-1)
(D) X+ 3x+1=(x-2)>

1104/(Set : A)
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(5) 1104/(Set : A)

Which of the following is a quadratic equation ?
(8)  (x+1)*=2(x-3)

B) (x-2) (x+1)=(x-1) (x+3)

(C) (x+2)°=2x(*-1)

(D) X +3x+1=(x-2)?

6. fagaf (-2, 7) 8lX (4, -3) & AN i Y@rEvs & Heg &g 2 1
@A) =1,-2) (B) (=2,-4)
€ (2,4 (D) (1, 2)
Coordinates of mid point of line joining two points (-2, 7) and (4, -3) is :
@A) +1,-2) (B) (-2,-4)
€ (2,4 (D) (1, 2)
7. @R & 2 (@Y, FatmEE) 1
All squares are ............. . (Similar, Congruent)
8. gq & fhl farg W wuet Y, wet g @ o9 arll Brean & &= &1 Hior B @ 1
(A) 180° (B) 45°
(C) 90° (D) 60°

The tangent at any point of a circle makes an angle to the radius through the

point of contact is :

(A) 180° (B) 45°
(C) 90° (D) 60°
1104/(Set : A) P.T.O.
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(6) 1104/(Set :
9. Rl gq & wsl Y@ S8 e fagelt WX wet &l © 7

A 1 B) 2

(C) 3 (D) SR

At how many points a tangent to a circle intersect it ?
A) 1 (B) 2

(¢ 3 (D) Infinite

10. sin 60° sec 30° @& HM BN :

3 3
(A) 4 (B) 5
€ 1 (D) O
The value of sin 60° sec 30° will be :
73 3
(A) e (B) )
Q) 1 (D) O
11. qﬁtan9=g &, @ sin 6 & AW BF :
3 3
(A) . (B) s
5 4
(& 3 (D) 3

1104/(Set : A)
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(7) 1104/(Set : A)

If tan 6 = %, then the value of sin 6 will be :

3 3
(A) 4 (B) g
5 4
(€) g (D) g
12. 9sec? A -9tan’ A TN % : 1
A -9 (B) 9
€ 1 (D) O
9 sec’ A -9 tan? Ais equals to :
A) -9 (B) 9
€ 1 (D) O
13. 39 & IR SR &9 H U © 1
A =w:1 B) 2mn:1
C) =m:r D) 1:=m

The ratio of circumference is to diameter is :

A) m:1 B) 2m:1
C) =m:r D) 1:m=m
1104/(Set : A) P.T.O.
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(8) 1104/(Set :
14. 5 ga & Breamacs 1 §%a S B 6 99 8 ®ioT 30° 8, BN

(A) 2n g (B) 7 dh?
(C) 3m&H> (D) 5n &2
Area of the sector of a circle with radius 6 cm and angle 30°, will be :
(A) 2n cm? (B) 7n cm?
(C) 3n cm? (D) 5n cm?

15. A # IO §%d S Beer 3 9 &, 2
(A) %n@r?ﬁ (B) %n@fl’rz

(C) 18m TP (D) 36w 2

The surface area of sphere whose radius is 3 cm, will be :
(A) %n cm? (B) 4 ¢ em?

(C) 18rm cm? (D) 36m cm?

16. Frefiad SRERAT e & Igas 9 Bl © :

1 o | 0-10 | 10-20 [ 20-30 |30-40 |40-50

CIEGIEGI 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20

1104/(Set : A)
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(9) 1104/(Set : A)

The modal class for the following frequency distribution :

Class Interval | 0-10 | 10-20 |20-30 |30-40 |40-50

Frequency 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20
17. %= YR & AIGH § Th SgHied aeg @ e 7 1

(A) 3 e = TEAE + 2 WA

(B) HIeA® = 3 SgAS + 2 HIEA
(C) HIeHF = 2 GgTF + 3 WA

(D) 3 WA = IgaTh — 2 A

What is the empirical relationship between the three measures of central

tendency ?

(A) 3 Median = Mode + 2 Mean
(B) Median = 3 Mode + 2 Mean
(C) Median = 2 Mode + 3 Mean

(D) 3 Median = Mode — 2 Mean

18. IR P(E) = 0.07 &, W PE 7&) & A9 8T : 1
(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

1104/(Set : A) P.T.0.
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(10) 1104/(Set : A)
If P(E) = 0.07, then P(not E) will be :

(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

19. SR&Y (A) : 5 U URAY T B 1
% (R) ol e QTR @ QST HE 2

(A) SIPB (A) IR @ (R) AT Tl § o 0 (R) STHET (A) B T AR HT 2
(B) SRR (A) X @ (R) AT Tl & R T (R) SATH (A) Tl e Tef el 2l
(C) SR (A) &I 8, Ak d& (R) a2

(D) B (A) TG &, AT T (R) T D

Assertion (A) : 5 is a rational number.
Reason (R) : The square root of all positive integers is an irrational number.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : A)
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(11) 1104/(Set : A)
20. e (A) :  fagel (1, -3) R (4, 1) & 9= & T 5 R 2 1

@ (R) : %FS:Z A(xy, yy) IR Blxy, yo) & 9 & E&'—'ﬁ

AB = = x1)? + (Y2 - 1)’
(A) SIPB (A) R @ (R) AT Tl § iR 0 (R) STHET (A) B Tl AR HT 2
(B) IR1wEE (A) X T@ (R) a1 98! § X T (R) ST (A) 1 98 rear 8l &ear 2l
(C) RREA (A) TRl 8, Ak T (R) T

(D) ST (A) T 8, Al d& (R) T&l B

Assertion (A) : The distance between points (1, -3) and (4, 1) is 5 units.

Reason (R) : The distance between A(x,, y;) and B(x,, y,) is

AB = \/(xz —x1)* + (Y2 —1)?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : A) P.T.O.
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(12) 1104/(Set : A)
gug - §

SECTION-B

21. k& 68 99 & fog, 77 W gfiecn & g & R &9 § o &d e ? 2
kx+3y—-(k-3)=0
12x+ ky—-k=0

For what values of k will the following pair of linear equations have infinitely

many solutions ?
kx+3y-(k-3)=0

12x+ ky-k=0

22. T ¥ DE||BC B AD FId iR A 2
1.8 cm
D E
7.2 cm 5.4 cm
B C

In Fig. DE||BC, then find AD.

A
1.8 cm
D E
7.2 cm 5.4 cm
B C

1104/(Set : A)
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23.

(13) 1104/(Set : A)
WRgAQ N HIA D &= 450 g0 WE, 90 | W @ ol da 4 a1 81 g9

% BT S i 2

The length of a tangent from a point A at distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

24. I¥ sin (A — B) =%, cos (A+B)=%, 0° <A+ B<90° A > B, d AR B3Id
EIELY 2
Ifsin (A-B) = %,cos (A+ B) = %,O°<A+BS90°,A>B, then find the value of
A and B.

AYAT
OR
IR tan (A + B) = /3 Gﬁ'{tan(A—B)=%;O°<A+BS90°,A>B, T AR B#
I § i)
Iftan (A+ B) = V3 and tan (A-B = %;O°<A+BS90°,A>B, then find the
value of A and B.
1104/(Set : A) P.T.O.
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25.

26.

27.

28.

(14) 1104/(Set : A)
fFelt X &  IEW (wipers) &, WER Fi IR Te 24 &1 YIS dZIR & T= I

TR 25 6 & SR 115° & HIT 0% gHaT TR BT G ol Tl @ Tow GeR b ae
R &= | &1 S 8, 98 §I it 2

A car has two wipers which do not overlap. Each wiper has a blade of length
25 cm sweeping through an angle of 115°. Find the total area cleaned at each

sweep of the blades.

s -9
SECTION-C

firs #IfTT % V5 T i e R 3

Prove that \/g is an irrational number.

fEumd S8 6% - 7x— 3 & IH H BT AR IR T [oNH & &= & dae B Feaar
%l Sira o 3

Find the zeroes of quadratic polynomial 6x* — 7x — 3 and verify the relationship

between the zeroes and the coefficients.

31 HEel SR 26 & IR Th dE qEd §E & AW M 2| I S i 3

The difference between two numbers is 26 and one number is three times the

other. Find them.

1104/(Set : A)
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29.

30.

(15) 1104/(Set : A)
CLE)
OR
W THET I F & HINT
3x _Sy__, x,y_13
2 3 7 3 2 6
Solve the pair of linear equations :
3X_SY__, *x,y_13
2 3 7 3 2 6
forg #ifTe 6 o forg & g W Eieh 1§ wst el i dagdr aweR Bkl 3

Prove that the length of tangents drawn from an external point to a circle are

equal.

APQR T, STH& &1 O GH&HIT 8, PR + QR = 25 & 3k PO = 5 &1 B, dl cos P 3R

tan P &l 99 5d i)

3

In APQR, right angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the

value of cos Pand tan P.
YT
OR

[ #IT :  (cosec 6 — cot B)? = 1-cos®

1+cos0

1-cos®©

Prove that : (cosec 6 — cot 8)? =
1+ cos6

1104/(Set : A)

P.T.0O.
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(16) 1104/(Set : A)
31. Th U9 H TH 9K Bl AN 81 FRad ® 0 w3 @l WRkeedr S S 3

() TH T e

(i) 2 R 6 & s Rag #F den

(iii) T fouq d=

A die is thrown once. Find the probability of getting :
(i) a prime number

(ii) a number lying between 2 and 6

(ii) an odd number

gre -
SECTION-D

32. & AN de, Frad Rer oia & °r 18 i /Aver g, 24 Rl a0 & ufoga s 4, a8 gl
qRT & TR o &l TUel 1 9T St ol o1 4RT &1 = S i 5

A motor boat whose speed is 18 km/h in still water takes 1 hour more to go
24 km upstream than to return downstream to the same spot. Find the speed of

the stream.

STeE
OR

3ﬁﬁ@mﬁm(ﬁﬁ)wwﬁm@waﬁqﬁ@m%wmw%%|
IEH! A Y S i

The sum of the reciprocals of Seema's ages (in years) 3 years ago and S years

from now is % . Find her present age.

1104/(Set : A)
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33.

34.

(17) 1104/(Set : A)
g #IT “aie el Brget & Th ST & EHiaY o &l 9emel & PR fSgel ®
ST B B [T T X@T @i S, @ A o & 4o s & oua | fawifia & S
27 5

Prove that "If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, the other two sides are divided in the same ratio".

FE Y TF IO & AHR H & 9 W T 9f FARMNT 31 I JAHR A1 B Heg 3K
| HA: 2.1 W AR 4 B Jw off B HF H=E 2.8 WP, @ 3@ dg B oW A
TIET BT H AFHA S I T & % 500 U AP H W | TEH SgE daard @
AR ST iforel (e T o oY & oER &l At | T8l & S 81) 5

A tent is in the shape of a cylinder surmounted by a conical top. If the height
and diameter of cylindrical part are 2.1 m and 4 m respectively and the slant

height of the top is 2.8 m. Find the area of the canvas used for making the tent.

Also find the cost of the canvas of the tent at the rate of ¥ 500 per m?. (Note that

the base of the tent will not be covered with canvas.)

YT

OR
T 7 T a0 T TR &P b B Th A @ AT 81 A H SAE A
T & THAT & ¢ 39 YBR §1 39 H TOF FAGA ST B

A cubical block of side 7 cm is surmounted by a hemisphere. What is the

greatest diameter the hemisphere can have ? Find the surface area of the solid.

1104/(Set : A) P.T.O.



1104/(Set : A)

5

(18)
35. far ganl e fasg & B IoqH TGN THRady Ay Bhbe Bl # W W A

I ©
ST MY H | Sewson B
3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 6
8000-9000 3
9000-10000 1
10000-11000 1

T SHiwSl B gD T HiT

The given distribution shows the number of runs scored by some top Batsmen of

the world in one day international cricket matches :

Runs Scored

Number of

Batsman
3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 6
8000-9000 3
9000-10000 1
10000-11000 1

Find the mode of the data.

1104/(Set : A)
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(19) 1104/(Set : A)
gog - g

SECTION -E

36. I & I 810 && H AHRAT H IW THR TN TN & % Teail aby A 5 |9, gE A
12 89 g d|gd 9 19 89 e

ST A gar & SMaR W =i g9t & I &

(i) SBRA A @ A ) G RN TE AP B 7 1

(i) odf THA | @ |Al H GEAT T B 1

(i) UEell 13 THRAT | T Al Hl HEAT A HioM 2
ST

fraet QRat § 95 99 W@ W E ? 2

Anvi has 810 apples and she arranged them in baskets in such a way that 5 apples

are in first basket, 12 in second basket, 19 apples in third basket and so on.

Based on the above information, answer the following questions :

1104/(Set : A) P.T.O.
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(20) 1104/(Set : A)

(i) Is the number of apples in baskets in A. P. ?

(ii) Find the number of apples kept in the 9th basket.

(iij) Find the total number of apples in the first 13 baskets.
OR

In how many baskets 95 apples can be kept ?

37. TF &1 A 4 AW T, TOH, T R WA B F REm ofER 5 A, B, C I D W

@ % T AN B H O YW R B Al # st H AR A & ER W
frriferiee gt & SR AR

(i) o @ Rafa s Sk 1

(i) ST @ Rl S i 1

(i) AC % WeAlrg & MR A i 2
e

T 9 g A g0 S| B 2

1104/(Set : A)
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(21) 1104/(Set : A)

10
9
8
7 By
6
55 A c@'
4
s 2
2
1 D
O 1 2 3 4 5 67 8 9 10

Columns

In a classroom 4 friends Ram, Rajan, Praveen and Raman are sitting on the
points A, B, C and D as shown in the fig. Assuming O be the origin. Observe the

figure and answer the following questions based on the figure :
(i) Find the position of Rajan.
(ii) Find the position of Praveen.
(iii) Find the coordinates of the mid point of AC.
OR

Find the distance of Praveen from origin.

1104/(Set : A) P.T.O.
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(22) 1104/(Set : A)

10
9
8
. B [*
6
S Ta NE
4
3 '_
2
] D
O 1 2 3 4 5 6 7 8 9 10

Columns

38. UF TeH dlEe Bed & oY W Tl Bl 369 2@ % @ P iR @ O fauda Ramett & e
BIST &I MY ST @I 31 I U &% A P & ST&THT HI 45° B X 19 O & FATHT

BT 30° 31 98 IE A SAHT & % dEC B8 H HEe 100 WX B

1104/(Set : A)
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(23) 1104/(Set : A)
SR TNH & SR IR g J9Hl & 3aX &g

(i) ZLAPQ® ¥T F1 BFM ? 1
(i) PD 3 & ST BT 1
(iii) QD W13 A HFTY 1
(iv) AP TE1E ST P 1

A boy standing on the top of a light house. He saw that two boats P and Q were

approaching towards light house from opposite sides of it. He observed that

angle of depression of boat P is 45° and that of boat Q is 30°. He also knows the

height of light house is 100 m.

A
X Y
45° 30°
100m
p 45° 30° 0
D
1104/(Set : A) P.T.O.
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(24) 1104/(Set : A)

Using above information answer the following questions :
(i) What will be the measure of LZAPQ ?

(ii)) Find the length of PD.

(iii) Find the length of OD.

(iv) Find the length of AP.

1104/(Set : A)
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CLASS : 10th (Secondary) Code No. 1104
Series : Sec/Annual Exam.-2024
Roll No. SET : B

TR (ST4R)
MATHEMATICS (Basic)
(Academic/Open)

[ o wd afrslt arem |
[ Hindi and English Medium |

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

T77 : 3 §°¢ | [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 JeT-UF 4 FRa g 24 T F97 38 &)
Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, J9T H B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o G-kl % &= @Il /971 T 88

Don’t leave blank page/pages in your answer-book.

1104/(Set : B) P.T.O.



(2) 1104/(Set : B)
o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o & A T
frd sife dafeys 7o & G T Frdll I @7 9T T G

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U go7 % FUT 37 @ Y4 I€ Ghaa F @ [ 99T-v4 [ 7 @@ & Yher 3 U 59
T § #ig 4 @ w@hHre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A 3
General Instructions :
() 39 g97-99 & 37 38 797 & G5 A @Sl - o § & g o g F G W &
This question paper consists of 38 questions in all which are divided into five
Sections : A, B, C, D and E.
(i) GT-:357 GC 71 720 T 7T 20 J97 &, J9% 597 1 9% &7 &/
Section - A : There are 20 questions from 1 to 20, each of 1 mark.
(i) GT-§:39 8% F21 @25 0% F7T 5 97 &, J9% J97 2 3% & &1
Section - B : There are 5 questions from 21 to 25, each of 2 marks.
(iv) @8- : 37 8 726 @31 0% Z7 6 J97 & 9% J97 3 6% & &I

Section - C : There are 6 questions from 26 to 31, each of 3 marks.

1104/(Set : B)



(3) 1104/(Set : B)
(v) T -T:37 GC 732 G35 T FT 4 J97 8, J9% 7 5 9% F &1

Section — D : There are 4 questions from 32 to 35, each of 5 marks.

(vi) G -F:359 T 736 738 7% FT 3 J97 & T9% 9T 4 9% T &I
Section - E : There are 3 questions from 36 to 38, each of 4 marks.

(vii) T FoT ARET 8 ETE G- F 1 J97 7 @S- % & 57 G, @%-7 & @
g97l 7 S Gve-F % @ g7 H iR% ey (9 7@ 81 37 @ vl G 597 B
g7 &1

All questions are compulsory. However provision of internal choice has
been made in 1 question of Section-B, 2 questions of Section-C, 2 questions

of Section-D and 2 questions of Section-E. You have to choose one question

of them.
gug -
SECTION - A
1. gq & IR oiR &9 & oFUE & : ’
A) mw:1 B) 2m:1
C) m:r D) 1:m=m

The ratio of circumference is to diameter is :
A m:1 B) 2m:1

C =m:r D) 1:m

1104/(Set : B) P.T.O.



(4) 1104/(Set :
2. TpEl g9 & Beur@vs @ &9%a forad B 6 99 8fK &IoT 30° &, B

(A) 27§ (B) 7n >
(C) 3m&H> (D) 5n &2
Area of the sector of a circle with radius 6 cm and angle 30°, will be :
(A) 2n cm? (B) 7n cm?
(C) 3n cm? (D) 5m cm?

3. T P UL SEhA o Brewr 3 9 g, B
(A) %n@tﬁQ (B) %n@ﬁ@

(C) 18m T (D) 36w 2

The surface area of sphere whose radius is 3 cm, will be :
(A) 31 em? (B) 2 em?
4 3

(C) 18rm cm? (D) 36m cm?

4. e SRERAT §e % Sgad a1 Bl @

1 o | 0-10 | 10-20 [ 20-30 |30-40 |40-50

TRARAT 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20

1104/(Set : B)
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The modal class for the following frequency distribution :

Class Interval | 0-10 | 10-20 |20-30 |30-40 |40-50

Frequency 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20
5. %= UG & AR § TH e e a4 g 7 1

(A) 3 HIEHE = TgAE + 2 qEA

(B) HIeA® = 3 SgAS + 2 HIEA
(C) HIeHF = 2 GgTF + 3 WA

(D) 3 WA = IgaTh — 2 AeA

What is the empirical relationship between the three measures of central

tendency ?
(A) 3 Median = Mode + 2 Mean (B) Median = 3 Mode + 2 Mean

(C) Median = 2 Mode + 3 Mean (D) 3 Median = Mode — 2 Mean

6. A P(E) = 0.07 &, A P(E &) & 99 &rT : 1
(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

If AE) = 0.07, then P(not E) will be :

(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93
1104/(Set : B) P.T.O.
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7. 72 3R 120 & Ho Ho o (HCF) & : 1
(A) 12 (B) 24
(C) 36 (D) 72

The HCF of 72 and 120 is :

(A) 12 (B) 24
(C) 36 (D) 72
8. frfafed & $HF-d1 smRAw der 8 ? 1
(A) 36 B) 25
(C) 643 (D) 54

Which of the following is an irrational number ?

(a) 36 B) 25
(C) 6V3 (D) 5V4
9. fEEM 9gT& 207 - 8x + 6 F I BN A RN 1
(A) 4 B) -4
€) 3 (D) 1/3

The sum of zeroes of quadratic polynomial 2x* — 8x + 6 will be :
(A) 4 (B) —4
c 3 D) 1/3

1104/(Set : B)
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(7) 1104/(Set : B)
10. A.P.3,1,-1,-3 ccvcvvee..... & G SR FIT i 1

Find the common difference of the A. P. 3, 1, -1, -3 ............. .

11. fr=ifaread & & faam e de-a1 & ? 1
(A)  (x+1)?=2(x-3)
(B) (x-2) (x+1)=(x=1) (x+3)
(C) (x+2)P°=2x(*>-1)
(D) x*+3x+1=(x-2)°
Which of the following is a quadratic equation ?
(A)  (x+1)*=2(x~3)

(B) (x=2) (x+1)=(x-1) (x+3)

(C) (x+2)°=2x(x¥*-1)

(D) xX*+3x+1=(x-2)

12. fgall (-2, 7) &R (4, -3) # BN o @rrs & 99 g R 1
@A) +1,-2) (B) (2,4
€ 24 (D) (1,2)

Coordinates of mid point of line joining two points (-2, 7) and (4, -3) is :

A) 1, -2) (B) (2,4
€ 2,9 (D) (1, 2)
1104/(Set : B) P.T.O.

Download from www.MsEducationTv.com



(8) 1104/(Set : B)

13. @ A ..o B 2l (qerem, Fatmam) |
All squares are ............. : (Similar, Congruent)
14. g9 & f6E g W el Y, @t forg @ o are Brean & =0 & &1 e @ 1
(A) 180° (B) 45°
(C) 90° (D) 60°

The tangent at any point of a circle makes an angle to the radius through the

point of contact is :

(A) 180° (B) 45°
(C) 90° (D) 60°
15. foel ga & @i Y I8 fhae fogell ) el &l § 7 1
(A) 1 (B) 2
€ 3 (D) SR
At how many points a tangent to a circle intersect it ?
(A) 1 (B) 2
(C) 3 (D) Infinite
16. sin 60° sec 30° % M &R : 1
J3 3
(A) e (B) 5
€ 1 (D) O

1104/(Set : B)
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The value of sin 60° sec 30° will be :

J3 3
& B -
€ 1 (D) ©
17.qi%tane=§€r,a‘rsineaarm=ré7rr: 1
3 3
" B
5 4
(& 3 (D) 5

If tan 6 = %, then the value of sin 6 will be :

w2 ® 2
© 2 o 2
18. 9sec?A -9 tan? A T & : 1
A) -9 (B) 9
© 1 D) ©
1104/(Set : B) P.T.O.
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9 sec’ A -9 tan? Ais equals to :

A) -9 (B) 9
€ 1 (D) 0

19. oimRed () fagel (1, -3) X (4, 1) @ 9 & 30 5 TR B 1
@ (R) : g A(x,, y)) &R Blx,, y,) & a1 @&l g0

AB =J(xz - x1) + (Y2 - v,
(A)  ARHIT (A) X T (R) 9! Tl & R T (R) STNHAA (A) I TE ARAT BT &l
(B) ARHYT (A) X T (R) T! Tl & oI T (R) AP (A) I T8 ARAT &l Bl &l
(C) IRrwET (A) 98 B, AfFT d& (R) T 2l
(D) B (A) TG &, AT T (R) T D

Assertion (A) : The distance between points (1, -3) and (4, 1) is 5 units.

Reason (R) : The distance between A(x,, y;) and B(x,, y,) is

AB = \/(xz - x;)? +(Ys —y1)2

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : B)
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20. R (A) : 5 UH URAY gE&A B 1

9% (R) : gl NI QO $ S SURAd weE g

(A) SIPBE (A) R @ (R) AT Tl § R 0 (R) STHET (A) B T AR HT 2
(B) 3ARwET (A) X T& (R) a1 98! § o T (R) ST (A) 1 98 rer 8l &ear 2l
(C) RREA (A) Tl 8, AT T (R) T

(D) B (A) TG &, AT T (R) T D

Assertion (A) : 5 is a rational number.
Reason (R) : The square root of all positive integers is an irrational number.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : B) P.T.O.
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21.

22.

(12) 1104/(Set : B)
gug - §
SECTION - B

gAY NHIad &= 45 99 g0 W e, g0 W W W& H da5 4 a4 81 gq
% Brear s i 2

The length of a tangent from a point A at distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

1.

A tan (A+ B) = /3 A tan (A- B) = 0°<A+B<90°, A>B, dl AAR B &

\/5’

I S i) 2
Iftan (A+ B) = V3 and tan (A—B)=%;O°<A+BS90°,A>B, then find the
value of A and B.

AYAT

OR

. 1 1

I sin (A-B) =, cos (A+B) =, 0°< A+ B<90° A> B, d AR Bad
EfgliaQI

If sin (A-B) = é, cos (A+ B) = é, 0° < A+ B<90° A > B, then find the value of

A and B.

1104/(Set : B)
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23. Bl X 3 F IEW (wipers) &, WER Fi IR e 24 &1 UAH dZIR B T I

TR 25 9 & SR 115° & HIT 0% gHaT TR BT Gl ol Gl @ Fow GeR b ae
R &=t €% 81 S 8, 98 S il 2

A car has two wipers which do not overlap. Each wiper has a blade of length

25 cm sweeping through an angle of 115°. Find the total area cleaned at each

sweep of the blades.

24. k% f5g AW & fog, fr= Wes wfeet & g & o &9 & om% & e ? 2
kx+ 3y - (k-3)=0

12x+ ky—-k=0

For what values of k will the following pair of linear equations have infinitely

many solutions ?
kx+3y—-(k-3)=0

12x+ ky—-k=0

25. MG #§ DE||BC 31 AD S i 2
A
1.8 cm
D E
7.2 cm 5.4 cm
B C
1104/(Set : B) P.T.O.
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In Fig. DE||BC, then find AD.

(14) 1104/(Set : B)

A
1.8 cm
E
7.2 cm 5.4 cm
B C
qe -9
SECTION-C
26. Waw THHT W I & BT 3
3x Sy __, x,y_13
2 3 3 2 6
Solve the pair of linear equations :
3x Sy__, x,y_13
2 3 3 2 6
AYAT
OR

31 HEel H SR 26 & IR Th dE qEd §E & AW M 8| I I i

The difference between two numbers is 26 and one number is three times the

other. Find them.

1104/(Set : B)
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27. fos Fifm % T g & g9 W @i T et Tl @t derdt e A 2 3

Prove that the length of tangents drawn from an external point to a circle are

equal.

28. APOR ®, RSTH&I ®I Q §H&HIT 2, PR + QR = 25 @l &X PO = 5 @M 8, @ cos P IR
tan P & |9 3d Bitog| 3

In APQR, right angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the

value of cos Pand tan P.
YT

OR

[ #IT :  (cosec 0 — cot B)? = 1-cos®

1+cos®
Prove that : (cosec 6 — cot 6)* = 1-cos®
1+cos6

29. R FIT % V5w suRAg e B 3

Prove that \/g is an irrational number.

30. fEEI SgTE 62 - 7x -3 & LIH S IO AR b ao1 il & = & ey H Geoaan
Hl SrE Bt 3

Find the zeroes of quadratic polynomial 6x* — 7x — 3 and verify the relationship

between the zeroes and the coefficients.

1104/(Set : B) P.T.O.
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31.

32.

(16) 1104/(Set : B)
T F U T - 3¢ H e, AW, T, TEE AR THR - F TAC B ST THR el

ST Bl Y 39H @ agesa s U e S 2 3
(i) =T F1 TifkeRdr § % 98 o uh KW ® ?

(i) IR TM e oM B, O SH T W@ A T § iR UE o W ekl S &l
TEE! T WA & % G I T O (a) U 39 © ¢ (b) T T 8 7

Five cards - the ten, jack, queen, king and ace of diamonds are well-shuffled

with their face downwards. One card is then picked up at random.
(i) What is the probability that the card is the queen ?
(ii)) If the queen is drawn and put aside, what is the probability that the second

card picked up is (a) an ace ? (b) a queen ?

grE -7
SECTION - D
g #IT “aie el Brget & Th ST & EHiaN o &l el & R fSeel ®

ST O & R o YaT G ST, @ X o @ e o & et § R 8 o
%”| 5

Prove that "If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, the other two sides are divided in the same ratio".

1104/(Set : B)
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33.

(17) 1104/(Set : B)
T 7 A g U SR & B S Th AN @ g Bl AN B SAfemH T
T & THaT & ¢ 39 UBR §1 39 H TOF FAEA ST B 5

A cubical block of side 7 cm is surmounted by a hemisphere. What is the

greatest diameter the hemisphere can have ? Find the surface area of the solid.
AYAT
OR
FE Y TF IO B THR H 8 O W T 9 FARMNT 31 I ITHR AW B S 3
g wA: 2.1 W olR 4 W B qw off B FF HOE 2.8 WP, @ 3@ dg B AW A
TIET AT B EARA A BT AT & T 500 iy A # W q T TgF A
AR S BTl (S ST & g & STER & e | 6l &l S 31)
A tent is in the shape of a cylinder surmounted by a conical top. If the height
and diameter of cylindrical part are 2.1 m and 4 m respectively and the slant

height of the top is 2.8 m. Find the area of the canvas used for making the tent.
Also find the cost of the canvas of the tent at the rate of ¥ 500 per m?. (Note that
the base of the tent will not be covered with canvas.)

34. o gom §c fsg & B FoqW Twiaml BN UhHEAEE ARG fhbe He § 90 R
I @ 5
T M | Swisel H e
3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 6
8000-9000 3
9000-10000 1
10000-11000 1
T Siiwel B TgAD T HiT
1104/(Set : B) P.T.0.
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35.

(18) 1104/(Set : B)

The given distribution shows the number of runs scored by some top Batsmen of
the world in one day international cricket matches :

Runs Scored Number of
Batsman
3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 §)
8000-9000 3
9000-10000 1
10000-11000 1

Find the mode of the data.

3aéﬁ%ﬁma%arg(aﬁfﬁ)esrsgwraﬁ1m@rsersiqseaﬁa:rrg%a;wresr?ﬂﬂ%%|
I A A S i 5

The sum of the reciprocals of Seema's ages (in years) 3 years ago and S years

from now is % . Find her present age.

7T
OR
T A e, P Rex /@ 7 = 18 /v &, 24 Bt ) & foee 9 F, @@ gl
qRT & TR o I TUeT 1 9¢T Al ol 8| 4R &l = S Bl

A motor boat whose speed is 18 km/h in still water takes 1 hour more to go
24 km upstream than to return downstream to the same spot. Find the speed of

the stream.

1104/(Set : B)
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(19) 1104/(Set : B)
guE -4

SECTION -E

36. TH FE1 H 4 AW T, TOH, FT R WA BE 7 REm ofER 5 A, B, C I D ®

@ % T AN B H O YW R B A # osEdiET B AR A & MR W
frr=ifeie g & SR AR

(i) o B RAfT @ I 1
(i) "dIT B Rafd @ i) 1
(iii) AC & Heferg & Mesis s i 2
qar
AT & g fog & g S i 2
10
9
8
7 By
m6
B
5
<1 Ta B
3
2
1 D
O 1 2 3 4 5 67 8 9 10
Columns
1104/(Set : B) P.T.O.

Download from www.MsEducationTv.com



(20) 1104/(Set : B)

In a classroom 4 friends Ram, Rajan, Praveen and Raman are sitting on the
points A, B, C and D as shown in the fig. Assuming O be the origin. Observe the

figure and answer the following questions based on the figure :
(i) Find the position of Rajan.
(iij Find the position of Praveen.
(ii) Find the coordinates of the mid point of AC.
OR

Find the distance of Praveen from origin.

10
9
8
. B[*
6
ST T N
4
5 X
2
! a*&
O 1 2 3 4 5 67 8 9 10

Columns

1104/(Set : B)
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(21) 1104/(Set : B)
37. UF TH qlEe ged & Y W Tl 81 369 3@ % @ P ol W@ O fauda Rameti & e

TS &I MY o W@l 21 I U &% A P &l ST&THT HI 45° B WX G O & FaTHT
BT 30° 31 98 IE A AT & % dEC B8 H Hae 100 WX B

X Y
45° 30°
100m
p 45° 30°
= Q
SR TVH & SR R g J9H1 & 3aX &g
(i) ZAPQ WY FM B ? 1
(i) PD % daE ST BT 1
(il) QDI Te1g ST i 1
(iv) AP T &8 3G B 1
1104/(Set : B) P.T.O.
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(22) 1104/(Set : B)
A boy standing on the top of a light house. He saw that two boats P and Q were
approaching towards light house from opposite sides of it. He observed that
angle of depression of boat P is 45° and that of boat Q is 30°. He also knows the
height of light house is 100 m.

Using above information answer the following questions :
(i) What will be the measure of ZAPQ ?

(ii) Find the length of PD.

(iij) Find the length of QD.

(iv) Find the length of AP.

1104/(Set : B)
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(23) 1104/(Set : B)
38. Il & I 810 F& H AHRA H 3 YHR T TN & % Teail AHY F 5 |9, g A

12 99 g qEd | 19 89 ISl

ST A gar & SMaR W =i g9l & I &

(i) SBRA HA @ A N G FMTEH AP B 7 1

(i) oFf THU ¥ @ A B TEAT A HioT 1

(i) el 13 TBRA F Fo Al B e A BT 2
7T

fpal TRl & 95 @9 W@ MW E ? 2

Anvi has 810 apples and she arranged them in baskets in such a way that 5 apples

are in first basket, 12 in second basket, 19 apples in third basket and so on.
Based on the above information, answer the following questions :

(i) Is the number of apples in baskets in A. P. ?

1104/(Set : B) P.T.O.
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(ii) Find the number of apples kept in the 9th basket.

(iiij) Find the total number of apples in the first 13 baskets.

OR

In how many baskets 95 apples can be kept ?

1104/(Set : B)
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CLASS : 10th (Secondary) Code No. 1104
Series : Sec/Annual Exam.-2024
Roll No. SET : C

TR (ST4R)
MATHEMATICS (Basic)
(Academic/Open)

[ o wd afrslt arem |
[ Hindi and English Medium |

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

T77 : 3 §°¢ | [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 JeT-UF 4 FRa g 24 T F97 38 &)
Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, J9T H B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o G-kl % &= @Il /971 T 88

Don’t leave blank page/pages in your answer-book.
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(2) 1104/(Set : C)
o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o & A T
frd sife dafeys 7o & G T Frdll I @7 9T T G

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U go7 % FUT 37 @ Y4 I€ Ghaa F @ [ 99T-v4 [ 7 @@ & Yher 3 U 59
T § #ig 4 @ w@hHre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A 3
General Instructions :
() 39 g97-99 & 37 38 797 & G5 A @Sl - o § & g o g F G W &
This question paper consists of 38 questions in all which are divided into five
Sections : A, B, C, D and E.
(i) GT-:357 GC 71 720 T 7T 20 J97 &, J9% 597 1 9% &7 &/
Section - A : There are 20 questions from 1 to 20, each of 1 mark.
(i) GT-§:39 8% F21 @25 0% F7T 5 97 &, J9% J97 2 3% & &1
Section - B : There are 5 questions from 21 to 25, each of 2 marks.
(iv) @8- : 37 8 726 @31 0% Z7 6 J97 & 9% J97 3 6% & &I

Section - C : There are 6 questions from 26 to 31, each of 3 marks.

1104/(Set : C)



(3) 1104/(Set : C)
(v) T -T:37 GC 732 G35 T FT 4 J97 8, J9% 7 5 9% F &1

Section — D : There are 4 questions from 32 to 35, each of 5 marks.

(vi) G -F:359 T 736 738 7% FT 3 J97 & T9% 9T 4 9% T &I
Section - E : There are 3 questions from 36 to 38, each of 4 marks.

(vii) T FoT ARET 8 ETE G- F 1 J97 7 @S- % & 57 G, @%-7 & @
g97l 7 S Gve-F % @ g7 H iR% ey (9 7@ 81 37 @ vl G 597 B
g7 &1

All questions are compulsory. However provision of internal choice has
been made in 1 question of Section-B, 2 questions of Section-C, 2 questions

of Section-D and 2 questions of Section-E. You have to choose one question

of them.
goe —
SECTION - A
1. fagal (-2, 7) 9lR (4, -3) ® Fm a1 YErEvs & 95 6g © 1
@A) 1,-2) (B) (-2, -4)
€ (2,4 (D) (1,2)

Coordinates of mid point of line joining two points (-2, 7) and (4, -3) is :
(A) 1, -2) B) (2, -4)

€ (2,4 (D) (1,2)

1104/(Set : C) P.T.O.
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2. 8 AN o B 2 (e, TatTEm) 1
All squares are ............. . (Similar, Congruent)
3. gq & [l forg W oot X, @st feg @ ST arl Ben & &= &1 o7 ol © 1
(A) 180° (B) 45°
(€) 90° (D) 60°

The tangent at any point of a circle makes an angle to the radius through the
point of contact is :

(A) 180° (B) 45°
(C) 90° (D) 60°
4. fHEl ga @ @l Y I fhae fogell W el F § 7 1
A) 1 (B) 2
(C) 3 (D) SR

At how many points a tangent to a circle intersect it ?

A) 1 (B) 2
C) 3 (D) Infinite
5. sin 60° sec 30° & HM & : 1

V3 3

(A) Y (B) 2

€ 1 (D) ©

The value of sin 60° sec 30° will be :
V3 3

® ®

€ 1 (D) 0O

1104/(Set : C)
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G.E{ﬁtan9=%€f,&"ﬁsin93ﬂ‘:lﬁa"ﬂi 1
3 3
(A) 2 (B) S
S5 4
(©) 3 (D) 3

If tan 6 = %, then the value of sin 6 will be :

w3 ® 3
© 2 o) 3
7. 9sec?A -9 tan? A X © 1
A) -9 (B) 9
€) 1 (D) O
9 sec’ A -9 tan? Ais equals to :
A) -9 (B) 9
€ 1 (D) O
1104/(Set : C) P.T.O.
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8. Id & IR IR ™ & FIUC & :
A) mw:1 B) 2m:1
C) m:r D) 1:=x
The ratio of circumference is to diameter is :
A) mw:1 B) 2m:1

C) =m:r D) 1:m=m

9. el gq & Brourave @ &a%a e Beer 6 @ 8fR &I 30° &, B
(A) 2m GH> (B) 7m TH?
(C) 3m P> (D) 5m aH?>

Area of the sector of a circle with radius 6 cm and angle 30°, will be :
(A) 2n cm? (B) 7n cm?
(C) 3n cm? (D) 5m cm?
10. T @1 TSI aha e Ber 3 9§, B0
(A) 3z ade (B) 4 e
4 3
(C) 18n qH (D) 36m AP
The surface area of sphere whose radius is 3 cm, will be :
(A) %n cm? (B) 2 ¢ om?
(C) 18rm cm? (D) 36m cm?

1104/(Set : C)
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11. Fr=fofed IRERAT e & Igas 9 Bl ©

12.

1104/(Set : C)

1104/(Set : C)

Ft efaq | 0-10 | 10-20 | 20-30 | 30-40 |40-50
FRARAT 6 7 5 11 6
(A) 0-10 (B) 40-50

(C) 30-40 (D) 10-20

The modal class for the following frequency distribution :

Class Interval | 0-10 | 10-20 |20-30 |30-40 |40-50
Frequency 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20
HEA YT & A9 TF SHEH qaeg 1 o 7 1

(A) 3 HrEASP = dgaih + 2 Hi

(B) HIEZAS = 3 Sgash + 2 HIH

(C) HreAsh = 2 5ol + 3 HIH

(D) 3 HreAs = dgaidh — 2 HIY

What is the empirical relationship between the three measures of central
tendency ?

(A) 3 Median = Mode + 2 Mean

(B) Median = 3 Mode + 2 Mean

(C) Median = 2 Mode + 3 Mean

(D) 3 Median = Mode — 2 Mean

P.T.0O.
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13. IR’ PE) = 0.07 8, Q@ P(E 7&i) & ¥ &FM : 1
(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

If PE) = 0.07, then P(not E) will be :

(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

14. 72 3R 120 % Ho Ho o (HCF) © : 1
(A) 12 (B) 24
(C) 36 (D) 72

The HCF of 72 and 120 is :

a) 12 (B) 24
(C) 36 (D) 72

15. f=faraa & - iy der B ? 1
(a) 36 B) 25
(C) 6V3 D) 5V4
Which of the following is an irrational number ?
(A) V36 B) V25
(C) 6V3 D) 5V4

1104/(Set : C)
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16. fEH g8 2% — 8x + 6 % LIAH B INTHA BRT 1
(A) 4 (B) —4
€ 3 (D) 1/3

The sum of zeroes of quadratic polynomial 2x* — 8x + 6 will be :

A) 4 (B) -4
C) 3 (D) 1/3
17. A.P.3,1,-1,-3 ccvcvvee..... & G SR ST i 1

Find the common difference of the A. P. 3, 1, -1,-3 ............. .

18. f=fofad & 9 faua afiecr dF-6 8 ? 1

(8)  (x+1)*=2(x-3)

B) (x—2) (x+ 1) =(x—1) (x+3)

(C) (x+2)P=2x(2-1)

(D) X +3x+1=(x-2)?

Which of the following is a quadratic equation ?
(A)  (x+1)* = 2(x~3)

(B) (x—2) (x+ 1) =(x—1) (x+3)

(C) (x+2)P°=2x(x*-1)

(D) X +3x+1=(x-2)?

1104/(Set : C) P.T.O.
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19. SR@EET (A) : 5 U URAY T B 1

T (R) : g g i & T STURAT g 2

(A)  ARHYT (A) X T (R) I9! Gl & X T (R) STNHAA (A) I TE ARAT BT 2l
(B) 3AR1wET (A) X T@ (R) a1 98! § o T (R) ST (A) 1 98 rear 8l &ear 2l
(C) IRmwEE (A) 98 B, AfFT d& (R) TT 2l

(D) ST (A) T 8, QAfbd d& (R) T&l 2

Assertion (A) : 5 is a rational number.
Reason (R) : The square root of all positive integers is an irrational number.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : C)
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20. e (A) :  fagel (1, -3) R (4, 1) & 9= @ T 5 R 2 1

@ (R) : %FS:Z A(xy, yy) IR Blxy, yo) & /9 & E&'—'ﬁ

AB = = x1)? + (Y2 - 1)’
(A)  AREET (A) X T (R) 9! 98 § X T (R) ST (A) I T8 /e &Y 2l
(B) SRR (A) X @ (R) AT T8l & 3R T (R) 1T (A) B Tl e T&f &l 2l
(C) HRHEA (A) TRl 8, Ak T (R) T

(D) ST (A) T 8, QAfbd db (R) T&l 2

Assertion (A) : The distance between points (1, -3) and (4, 1) is 5 units.

Reason (R) : The distance between A(x,, y;) and B(x,, y,) is

AB = \/(xz —x1)* + (Y2 —1)?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : C) P.T.O.
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grE - §
SECTION - B
21. B HR & & aER (wipers) &, TER FHH IeBMed T2 89 &1 TP dBI H T Bl

TR 25 6 & SR 115° & HIT 0% gHaT T6E BT Gl ol Gl @ Fow GeR b ae
R &= | 81 S 8, 98 S il 2

A car has two wipers which do not overlap. Each wiper has a blade of length
25 cm sweeping through an angle of 115°. Find the total area cleaned at each

sweep of the blades.

22. k& 68 99 & fog, 77 W gfien & g & R &9 § o &d e ? 2
kx+3y-(k-3)=0

12x+ ky—-k=0

For what values of k will the following pair of linear equations have infinitely

many solutions ?
kx+3y-(k-3)=0

12x+ ky-k=0

23. T ¥ DE||BC B AD FId iR 2
A
1.8 cm
D E
7.2 cm 5.4 cm
B C

1104/(Set : C)
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In Fig. DE||BC, then find AD.

A
1.8 cm
D E
7.2 cm 5.4 cm
B C

24, GRGAR N @IS = 4 5 89 g W2, g0 W W @0 &l @96 4 & 21 g
I e S i) 2

The length of a tangent from a point A at distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

25. ?:ri%sin(A—B)=%,cos(A+B)=%,0°<A+Bsgo°,A>B,a‘rAaﬁTB§nﬁ

EA I 2

Ifsin(A-B) = %, cos (A+ B) = %, 0°< A+ B<90° A > B, then find the value of

A and B.
YT

OR

1104/(Set : C) P.T.O.
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27.

(14) 1104/(Set : C)
1

I tan (A + B) = V3 aﬂ?tan(A—B)=—3;0°<A+Bs90°,A>B,a‘rAaﬁTBm
UM S it
1

Iftan (A+ B) = J3 and tan (A-B =—=;0°<A+ B<90° A > B, then find the

J3
value of A and B.
gvg -9
SECTION-C

fEE 9gU& 657 — 7x— 3 & LAH FA IO AR L0 a1 il & e & g B el
%l Sia o 3

Find the zeroes of quadratic polynomial 6x* — 7x — 3 and verify the relationship

between the zeroes and the coefficients.

31 HEnel SR 26 © R Th € gEd §@l H AW M 81 I I i) 3

The difference between two numbers is 26 and one number is three times the
other. Find them.

e
OR
W THET I F & T
Sx _Sy__, x,y_13
2 3 73 2 6

Solve the pair of linear equations :

3X_SY__, *x,y_13
2 3 3 2 6

1104/(Set : C)
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28. fs FIfm % T g & g9 W @ikt T et TEmel @t dardt e A 2 3

Prove that the length of tangents drawn from an external point to a circle are

equal.

29. APQR ¥, STde #IT O G99 8, PR + OR = 25 @l 31X PQ = 5 Q4 B, & cos P &R
tan P & AN ST i) 3

In APQR, right angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the

value of cos Pand tan P.

e
OR
S #INT @ (cosec 6 — cot 0)? = 1-cos®
1+cos6
Prove that : (cosec 6 — cot 6)* = 1-cos®
1+cos6
30. ffE #IfC % V5 wH URAY He B 3

Prove that \/g is an irrational number.

31. 52 Tl F O THR ¥ B B 0% T H ¥ 0F T Mo an 81 el & oo

HLA I TRHAT T BN ¢ 3
() U B HE A T are ol
(i) THA F T
(iii) TH 3¢ H TH
1104/(Set : C) P.T.O.
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A card is drawn from a well shuffled deck of 52 cards. Find the probability of

getting :

(i) a face card

(ii) a spade

(iii) the queen of diamonds

gue -
SECTION-D

32. far gan e fsg & B ocH Tl G THRady Ay Bhbe Bl # W W A
I @ 5

¢ M W | Jeadwsl B gE
3000-4000 4
4000-5000 18
5000-6000
6000-7000
7000-8000
8000-9000
9000-10000
10000-11000

T Siiwel B TgAD T HiT

—= = W O N V0

1104/(Set : C)
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The given distribution shows the number of runs scored by some top Batsmen of
the world in one day international cricket matches :

Runs Scored Number of
Batsman

3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 §)
8000-9000 3

9000-10000 1

10000-11000 1

Find the mode of the data.

33. % AKX 4T, gl fex o/ 7 9 18 Rl /avar 8, 24 el o & widga o9 #, @@ gl
qRT & TR o &l TUeT 1 9T St ol o1 X1 &1 = FI i 5

A motor boat whose speed is 18 km/h in still water takes 1 hour more to go

24 km upstream than to return downstream to the same spot. Find the speed of

the stream.

YqT

OR

1104/(Set : C) P.T.O.
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34.

35.

(18) 1104/(Set : C)
3ﬁgﬁﬁmﬁa@(aﬁﬁ)wwmmﬁsaﬁqﬁﬁm%www%%|
I A Y S i

The sum of the reciprocals of Seema's ages (in years) 3 years ago and S years

from now is % . Find her present age.

g #iT “aie el Brgel & Th ST & EHiaY o &l 9emell & R fSgel W
st F & Qo 3@ g 9, @ 3 o A eI O @ T d fawiti & SR
%vl 5

Prove that "If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, the other two sides are divided in the same ratio".

FE Y TF IO & AHR H & O W T 9 FARMNT 21 I JAHR A1 B Sl 3K
| FA: 2.1 W AR 4 B Jw off B HF HOE 2.8 WP, @ 3@ qg B oW A
TIET AT B EARA FIA BT AT & % 500 Y A # W q T TgF A
AR S iforel (e ST o oY & oER &l A | T8l & S 21) 5

A tent is in the shape of a cylinder surmounted by a conical top. If the height
and diameter of cylindrical part are 2.1 m and 4 m respectively and the slant
height of the top is 2.8 m. Find the area of the canvas used for making the tent.
Also find the cost of the canvas of the tent at the rate of ¥ 500 per m?. (Note that

the base of the tent will not be covered with canvas.)

1104/(Set : C)
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AYqT
OR
YT 7 G a1 TF TR ®Ah b SR Th FEN @l g B N B AfbaH
T 8 HHaT & ¢ 36 UHR S 39 H T FAGA G B

A cubical block of side 7 cm is surmounted by a hemisphere. What is the

greatest diameter the hemisphere can have ? Find the surface area of the solid.

qUs -7
SECTION - E

36. UFH TH dlEe Bed & oY W Tl Bl 369 2@ % 7@ P ol @ O faudia Ramett & e
BISd & X o Wl &1 I U % A1 P & FaHT HI 45° B X TG O & FAITHA
BT 30° 31 98 IE A AT & % dEC B8 H Hae 100 WX B

A
X Y
45° 30°
100m
o A\ 30N,
D
U MR & SR 9T g 99991 & SaX &g ¢
(i) ZAPQ I 99 &1 BN ? 1
1104/(Set : C) P.T.O.
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(i) PD % @R TG BT 1
(il) QDI Te1g ST i 1
(iv) AP a8 Sq i) 1

A boy standing on the top of a light house. He saw that two boats P and Q were
approaching towards light house from opposite sides of it. He observed that
angle of depression of boat P is 45° and that of boat Q is 30°. He also knows the

height of light house is 100 m.

A
X Y
45° 30°
100m
p 45° 30° 0
D

Using above information answer the following questions :

(i) What will be the measure of LZAPQ ?

1104/(Set : C)
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(ii) Find the length of PD.

(iii) Find the length of QD.

(iv) Find the length of AP.

37. = & W 810 && H AHRA A T YHR TN TN & % Teai By A 5 |9, gEd A
12 89 g q|gd 4 19 89 e

ST A gar & SMaR R =i g9t & I &

() CERRAl 7 T ASl I T &M T AP B 7 1

(i) odi TAHA | @ |l H GEAT TG B 1

(i) e 13 THRA F W & H FEAT T BN 5
S UC

fpat QRA § 95 99 W@ MW E ? 5

1104/(Set : C) P.T.O.
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Anvi has 810 apples and she arranged them in baskets in such a way that 5 apples

are in first basket, 12 in second basket, 19 apples in third basket and so on.
Based on the above information, answer the following questions :
(i) Is the number of apples in baskets in A. P. ?
(ii) Find the number of apples kept in the 9th basket.
(iij) Find the total number of apples in the first 13 baskets.
OR

In how many baskets 95 apples can be kept ?

38. T FE1 A 4 AW T, TOH, FAT R WA B F REm offER 5 A, B, C I D W
@ % T AN W H O YW g B T W sERET B AN A B MER W
i gsel & IR A

(i) o @ Rfd S BT 1

1104/(Set : C)
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(ii) droT A Refd S BT
(i) AC & wedldwg & Fdai® S Hifm
g

AT & g fog & g S i

—_
o

15

Rows
= N W A OO N 0 O

D

O

1 2 3 4 5 6 7 8
Columns

1104/(Set : C)

9 10
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1
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In a classroom 4 friends Ram, Rajan, Praveen and Raman are sitting on the
points A, B, C and D as shown in the fig. Assuming O be the origin. Observe the

figure and answer the following questions based on the figure :
(i) Find the position of Rajan.
(ii) Find the position of Praveen.
(iii) Find the coordinates of the mid point of AC.
OR

Find the distance of Praveen from origin.

10
9
8
7 B
6
ES A c&'
4
5 x
2
] D
O 1 2 3 4 5 67 8 9 10

Columns

1104/(Set : C)

Download from www.MsEducationTv.com



CLASS : 10th (Secondary) Code No. 1104
Series : Sec/Annual Exam.-2024
Roll No. SET : D

TR (ST4R)
MATHEMATICS (Basic)
(Academic/Open)

[ o wd afrslt arem |
[ Hindi and English Medium |

(Only for Fresh/Re-appear/Improvement/Additional Candidates)

T77 : 3 §°¢ | [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 JeT-UF 4 FRa g 24 T F97 38 &)
Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, J9T H B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o G-kl % &= @Il /971 T 88

Don’t leave blank page/pages in your answer-book.
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o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o & A T
frd sife dafeys 7o & G T Frdll I @7 9T T G

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U go7 % FUT 37 @ Y4 I€ Ghaa F @ [ 99T-v4 [ 7 @@ & Yher 3 U 59
T § #ig 4 @ w@hHre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A 3
General Instructions :
() 39 g97-99 & 37 38 797 & G5 A @Sl - o § & g o g F G W &
This question paper consists of 38 questions in all which are divided into five
Sections : A, B, C, D and E.
(i) GT-:357 GC 71 720 T 7T 20 J97 &, J9% 597 1 9% &7 &/
Section - A : There are 20 questions from 1 to 20, each of 1 mark.
(i) GT-§:39 8% F21 @25 0% F7T 5 97 &, J9% J97 2 3% & &1
Section - B : There are 5 questions from 21 to 25, each of 2 marks.
(iv) @8- : 37 8 726 @31 0% Z7 6 J97 & 9% J97 3 6% & &I

Section - C : There are 6 questions from 26 to 31, each of 3 marks.
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(v) T -T:37 GC 732 G35 T FT 4 J97 8, J9% 7 5 9% F &1

Section — D : There are 4 questions from 32 to 35, each of 5 marks.

(vi) G -F:359 T 736 738 7% FT 3 J97 & T9% 9T 4 9% T &I
Section - E : There are 3 questions from 36 to 38, each of 4 marks.

(vii) T FoT ARET 8 ETE G- F 1 J97 7 @S- % & 57 G, @%-7 & @
g97l 7 S Gve-F % @ g7 H iR% ey (9 7@ 81 37 @ vl G 597 B
g7 &1

All questions are compulsory. However provision of internal choice has
been made in 1 question of Section-B, 2 questions of Section-C, 2 questions

of Section-D and 2 questions of Section-E. You have to choose one question

of them.
qls - H
SECTION - A
1. frfefed SRERAr s &1 Sgas av el § ¢ 1

&t o | 0-10 | 10-20 | 20-30 | 30-40 | 40-50

FRARAT 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20

1104/(Set : D) P.T.O.
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The modal class for the following frequency distribution :

Class Interval | 0-10 | 10-20 |20-30 |30-40 |40-50

Frequency 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20
2. Y g & AR F TH AGHEE e g 7 1
(A) 3 WIS = qgAE + 2 WA (B) e = 3 SgA® + 2 AIA
(C) HIET® = 2 Sgah + 3 A (D) 3 HIEHH = gD — 2 HIA

What is the empirical relationship between the three measures of central

tendency ?

(A) 3 Median = Mode + 2 Mean

(B) Median = 3 Mode + 2 Mean
(C) Median = 2 Mode + 3 Mean

(D) 3 Median = Mode — 2 Mean

3. A P(E) = 0.07 8, A P(E &) & 99 &rT : 1
(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

If AE) = 0.07, then P(not E) will be :
(A) 0.7 (B) 0.3

(C) 0.03 (D) 0.93

1104/(Set : D)
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4. 72 3 120 & Ho Ho 3o (HCF) B : 1
(A) 12 (B) 24
(C) 36 (D) 72

The HCF of 72 and 120 is :

(A) 12 (B) 24
(C) 36 (D) 72
5. ffafad & SF-dF oty der & 7 1
(A) 36 B) 25
(C) 63 (D) 5V4

Which of the following is an irrational number ?

(a) V36 (B) 25
(C) 63 (D) 5V4
6. fEUIT 95U 2:% — 8x + 6 % LIH B A ATl 1
(a) 4 B) -4
€ 3 (D) 1/3

The sum of zeroes of quadratic polynomial 2x* — 8x + 6 will be :

(A) 4 (B) —4
€ 3 (D) 1/3
1104/(Set : D) P.T.O.
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7. A.P.3,1,-1,-3 0evvnn... H GE SFAX A o 1

Find the common difference of the A. P. 3, 1, -1, -3 ............. .

8. Fr=fafad 7 & faa awiieT ®F-61 & 7 1
(A)  (x+1)*=2(x~3)
(B) (x-2) (x+1)=(x-1) (x+3)
(C) (x+2)P°=2x(*-1)
(D) x2+3x+1=(x—2)?
Which of the following is a quadratic equation ?
(A)  (x+1)*=2(x~3)

(B) (x=2) (x+ 1) =(x=1) (x+3)

(C) (x+2)P°=2x(*-1)
(D) X +3x+1=(x-2)?

9. Rgal (-2, 7) AR (4, -3) ® AW At @S F A 65 B ¢ 1

@A) =1,-2) (B) (-2,-4)
© @9 D) (1,2)
Coordinates of mid point of line joining two points (-2, 7) and (4, -3) is :
@A) +1,-2) (B) (-2,-4)
€ 2,9 (D) (1, 2)

10, WH & ..o & ¥ (wrwre, afTe) |
All squares are ............. . (Similar, Congruent)

1104/(Set : D)
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11. g9 & Reel g W @l e, @ef g @ 9 aht Boar & e @ o B @ i
(A) 180° (B) 45°
(C) 90° (D) 60°

The tangent at any point of a circle makes an angle to the radius through the

point of contact is :

(A) 180° (B) 45°
(C) 90° (D) 60°

12. Tl ga & @i Y I8 frae fogell ) st &l § 7 1
(A) 1 (B) 2
C) 3 (D) oTuRMHd

At how many points a tangent to a circle intersect it ?

(A) 1 (B) 2
) 3 (D) Infinite
13. sin 60° sec 30° & HM &N : 1
V3 3
(A) Y (B) 2
C) 1 (D) O

The value of sin 60° sec 30° will be :

/3 3
(A) e (B) 2
€ 1 (D) O
1104/(Set : D) P.T.O.
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14.qﬁtan9=%a,&"ﬁsin9$[qﬁ@7ﬂ: 1
3 3
(A) 2 (B) S
S5 4
(& 3 (D) 3

If tan 6 = %, then the value of sin 6 will be :

w2 ® 3
© 2 o) 3
15. 9sec?A -9 tan? A I & : 1

A) -9 (B) 9
€) 1 (D) O
9 sec’ A -9 tan? Ais equals to :

A) -9 (B) 9
€ 1 (D) O

1104/(Set : D)

Download from www.MsEducationTv.com



(9) 1104/(Set : D)

16. g % IR AR @AM H AU &
A) mw:1 B) 2m:1
C) m:r D) 1:=x
The ratio of circumference is to diameter is :
(A) m:1 (B) 2m:1

C) =m:r D) 1:m=m

17. &l 99 % Preamevs & &wa e Brear 6 & &R ®ioT 30° B, B ¢
(A) 2m GH> (B) 7m TH?
(C) 3m P> (D) 5m aH?>

Area of the sector of a circle with radius 6 cm and angle 30°, will be :
(A) 2n cm? (B) 7n cm?

(C) 3n cm? (D) 5m cm?

18. T I TSI &bl foreehl Bear 3 9 §, B0
(A) 3 ¢ (B) & e
4 3
(C) 187 P> (D) 36m P>
The surface area of sphere whose radius is 3 cm, will be :
(A) %n cm? (B) 4 ¢ em?
(C) 18rm cm? (D) 36m cm?
1104/(Set : D)
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19. oimRed (A) @ fagedf (1, -3) oY (4, 1) @ 9 & 30 5 TR B 1

@ (R) : %FS:Z A(xy, yy) IR Blxy, yo) & /9 & E&'—'ﬁ

AB = = x1)? + (Y2 - 1)’
(A)  AREET (A) X T (R) 9! 98 § X T (R) ST (A) I T8 /e &Y 2l
(B) SRR (A) X @ (R) AT T8l & R T (R) ST (A) B Tl e T&f el 2l
(C) HRHEA (A) TRl 8, Ak T (R) T

(D) ST (A) T 8, QAfbd d& (R) T&l 2

Assertion (A) : The distance between points (1, -3) and (4, 1) is 5 units.

Reason (R) : The distance between A(x,, y;) and B(x,, y,) is

AB = \/(xz —x1)* + (Y2 —1)?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1104/(Set : D)

Download from www.MsEducationTv.com



(11) 1104/(Set : D)
20. AR (A) : 5 UH URAY gE&A B 1

T (R) : gl e It F A STURAT g B

(A)  ARHIT (A) X T (R) 9! Gl & R T (R) STTNHA (A) I TE ARAT BT 2l
(B) 3AR1wET (A) X T@ (R) a1 98! § o T (R) ST (A) 1 98 rear 8l &ear 2l
(C) PR (A) Tl 8, Ak T (R) T

(D) BT (A) TG &, AT T (R) T D

Assertion (A) : 5 is a rational number.
Reason (R) : The square root of all positive integers is an irrational number.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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22.

(12) 1104/(Set : D)
gug - §

SECTION-B

TR tan (A+ B) = 43 & tan (A-B) = ——;0°< A+ B<90°, A> B, & AR B &

J3
99 A i 2

Iftan (A+ B) = V3 and tan (A—B)=L;O°<A+BS9O°,A>B, then find the

73

value of A and B.
YT
OR

[u—

?ilﬁsin(A—B)=—,cos(A+B)=l,0°<A+B£90°,A>B,EﬁAGﬁ'{B§Hﬁ

2 2
HifoTg
If sin (A- B) = %, cos (A+ B) = %, 0°< A+ B<90° A > B, then find the value of
A and B.

fFdt X 3 @ IRW (wipers) ¥, WX &l oemiRd & 2 &l Y% asw @ Wi @l
T 25 HAl B IR 115° & HI9T T AR AHE Y Gl 8l IR B T0F GER & Y
ST &I A% & ST B, 98 S B 2

A car has two wipers which do not overlap. Each wiper has a blade of length
25 cm sweeping through an angle of 115°. Find the total area cleaned at each

sweep of the blades.

1104/(Set : D)
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23. k& 8 99 & fag, Fr WRes qiiEen & W & STURM &9 9 3% & Bl 7 2

kx+3y—-(k-3)=0
12x+ ky-k=0

For what values of k will the following pair of linear equations have infinitely

many solutions ?
kx+3y-(k-3)=0

12x+ ky—-k=0

24. T ¥ DE||BC B AD FId iR R 2
1.8 cm
D E
7.2 cm 5.4 cm
B C

In Fig. DE||BC, then find AD.

A
1.8 cm
D E
7.2 cm 5.4 cm
B C
1104/(Set : D) P.T.O.
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25.

26.

27.

(14) 1104/(Set : D)
WRGAQ AN HIA D &= § 5 0 g0 WE, 90 | W @ &l da 4 a1 81 g9

% BT S i 2

The length of a tangent from a point A at distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

gue -9
SECTION-C

fre #Iv % T g & g0 W ol 6 @e el @ domdr SR e ol 3

Prove that the length of tangents drawn from an external point to a circle are

equal.

APQR T, STH& &1 O §H&HIT 8, PR + QR = 25 ¥ 3k PO = 5 &1 B, @l cos P 3K
tan P %1 A A S| 3

In APQR, right angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the

value of cos Pand tan P.
YT
OR

[ #IFT ©  (cosec 0 — cot 0)? = 1-cos®

1+cos©

1-cos®6

Prove that : (cosec 6 — cot 8)% =
1+ cos6

1104/(Set : D)
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28. fs FIRm B V5 s srRaw e B 3

Prove that \/g is an irrational number.

29. fEE 9gUE 67 - 7x— 3 & L TG oW AN LIH T [l & S & ey B Fel
%l SAE BT 3

Find the zeroes of quadratic polynomial 65> — 7x — 3 and verify the relationship

between the zeroes and the coefficients.

30. % FHIHTT IH & & HOT 3
%_5_y=_2, £+£=E
2 3 3 2 6

Solve the pair of linear equations :

3x Sy _ ., x,y_13
2 3 3 2 6

a7
OR
3 HEnel H SR 26 & IR Th dE qEd §E & AW M 8| I S i)

The difference between two numbers is 26 and one number is three times the

other. Find them.

1104/(Set : D) P.T.O.
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31. % U § 90 f3wh (discs) & B9 W 1 & 90 % T &ifpd & o 29 0 & @ @

few argesar el SR B, O 6 TR S i 76 39 5w W oifea 2 3
(i) I iR P TH T

(i) TF T & Fen

(i) 59 fawg T g

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn
at random from the box, find the probability that it bears :

(i) a two-digit number

(ii) a perfect square number

(i) a number divisible by 5

gue -
SECTION-D

32. 4o 7 §H o U EAHN wAh b S TH AFNT WM GAT 81 AN hl AHH A
T & ThaT & ¢ 39 YBR §1 39 H TOF FAGA ST B 5

A cubical block of side 7 cm is surmounted by a hemisphere. What is the

greatest diameter the hemisphere can have ? Find the surface area of the solid.
AYAT

OR

1104/(Set : D)
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FE T TF IO B THR H 8 8 W T 9 FARMNT 31 A ITHR A1 B SR 3

A FAM: 2.1 W oR 4 W 2 qoO0 OqF B FE FUE 2.8 W, @ W g H T A
TET BT H AFHA S IS T & % 500 U AP # S | TEH SgE daard @
AR S BTl (e ST & g & oTER & A | 6l &l S 31)

A tent is in the shape of a cylinder surmounted by a conical top. If the height
and diameter of cylindrical part are 2.1 m and 4 m respectively and the slant
height of the top is 2.8 m. Find the area of the canvas used for making the tent.
Also find the cost of the canvas of the tent at the rate of ¥ 500 per m?. (Note that

the base of the tent will not be covered with canvas.)

33. [ gam §c fsg & B FoqW WAl BN UhHEAEE A fhbe Hel # a0 A
ST B 5

¢ M W | Jeadwsl B gE
3000-4000 4
4000-5000 18
5000-6000
6000-7000
7000-8000
8000-9000
9000-10000
10000-11000

—= = W O N V0

T Siiwel B TgAD T HiT

1104/(Set : D) P.T.O.
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The given distribution shows the number of runs scored by some top Batsmen of
the world in one day international cricket matches :

Runs Scored Number of
Batsman

3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 §)
8000-9000 3

9000-10000 1

10000-11000 1

Find the mode of the data.

34. 3 98 qd G I g (ant ) F FobH AR 9 § 5 a¥ UE A b Jokd H AN % 2l
I A A S i 5
The sum of the reciprocals of Seema's ages (in years) 3 years ago and S years

from now is % . Find her present age.

AYAT

OR
T AreX e, Fres Rex 5@ § =@ 18 /v 8, 24 Bl o) & fdee 9 F, @@ gl
qRT & TR o &l TUeT 1 9T St ol o1 4RT &1 = F i
A motor boat whose speed is 18 km/h in still water takes 1 hour more to go

24 km upstream than to return downstream to the same spot. Find the speed of

the stream.

1104/(Set : D)
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35. 4= AT “Ai fRdl BIgST B T PO P g o A gorelt H R fagelt W
ST F B R b Y@ G o, @ A o A eI O & e § R @ ol
27 5
Prove that "If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, the other two sides are divided in the same ratio".

g -4
SECTION - E

36. TH FE1 H 4 AW T, TOH, FT R WA B 7 REm ofER 5 A, B, C I D W

9@ % T AN W H O YW g B g W osEdET B AN A B MER W
FrfaRad g9t & SaX Qg ¢

(i) o @ Rfd S iR 1
(i) Harr @ Refa sma S 1
(i) AC % WeAlrg & MR A Him 2
STy
AT A g ¥ §U A i 2
10
9
8
7 B
m6
Es
HEEP <6
3 .
2
1 D

@)

1 2 3 4 5 6 7 8 9 10
Columns
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In a classroom 4 friends Ram, Rajan, Praveen and Raman are sitting on the
points A, B, C and D as shown in the fig. Assuming O be the origin. Observe the

figure and answer the following questions based on the figure :
(i) Find the position of Rajan.
(ii) Find the position of Praveen.
(iii) Find the coordinates of the mid point of AC.
OR

Find the distance of Praveen from origin.

10
9
8
7 By
6
55 A c@
4
2 X
2
1 D
O 1 2 3 4 5 67 8 9 10

Columns

1104/(Set : D)
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37. UF TH qlEe ged & Y W Tl 81 369 3@ % @ P ol W@ O fauda Rameti & e

TS &I MY o W@l 21 I U &% A P &l ST&THT HI 45° B WX G O & FaTHT
BT 30° 31 98 IE A AT & % dEC B8 H Hae 100 WX B

X Y
45° 30°
100m
p 45° 30° 0
D

ST TSR & YR IX faRad U= & ST i :

(i) ZAPQ® ¥T F1 BFM ? 1
(i) PD % daE ST BT 1
(i) QD W13 A HIFTYY 1
(iv) AP T &8 3G B 1
1104/(Set : D) P.T.O.
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A boy standing on the top of a light house. He saw that two boats P and Q were
approaching towards light house from opposite sides of it. He observed that
angle of depression of boat P is 45° and that of boat Q is 30°. He also knows the
height of light house is 100 m.

Using above information answer the following questions :
(i) What will be the measure of LZAPQ ?

(ii) Find the length of PD.

(iii) Find the length of QD.

(iv) Find the length of AP.

1104/(Set : D)
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38. Il & I 810 F& H AHRA H 3 YHR T TN & % Teail AHY F 5 |9, g A

12 89 9 GEd § 19 99 i
ST A gar & SMaR R =i g9t & I &

(i) SBRA HA @ A N G FMTEH AP B 7 1

(i) oFf THU ¥ @ A B TEAT A HioT 1

(i) el 13 TBRA F Fo Al B e A BT 2
7T

fpal TRl & 95 @9 W@ MW E ? 2

Anvi has 810 apples and she arranged them in baskets in such a way that 5 apples

are in first basket, 12 in second basket, 19 apples in third basket and so on.
Based on the above information, answer the following questions :

(i) Is the number of apples in baskets in A. P. ?

(ii) Find the number of apples kept in the 9th basket.

1104/(Set : D) P.T.O.
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(iii) Find the total number of apples in the first 13 baskets.
OR

In how many baskets 95 apples can be kept ?

1104/(Set : D)
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